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(a)
Total materials variance:

	
	
$160,000


(1,xxx X $xxx)
	
	–
	$156,000

(1,xxx X $xxx)
	
	=
	$x,000 U



Materials price variance:

	
	
$160,000


(1,xxx X $xxx)
	
	–
	$162,500

(1,xxx X $xxx)
	
	=
	$x,500 F 



Materials quantity variance:

	
	
$162,500


(1,xxx X $xxx)
	
	–
	$156,000

(1,200 X $130)
	
	=
	$x,500 U



Total labor variance:

	
	
$55,xxx


(x,250 X $xx)
	
	–
	$xx,600

(x,300 X $xx)
	
	=
	$x,650 U



Labor price variance:

	
	
$xx,250


(x,x50 X $xx)
	
	–
	$xx,000

(x,x50 X $xx)
	
	=
	$x,250 U



Labor quantity variance:

	
	
$xx,000


(x,250 X $xx)
	
	–
	$xx,600

(x,300 X $xx)
	
	=
	$x00 F 


